ayaniuUMEuszHainwuxnunEEIng leguatauuuuazae

aal 3 Ll E 7 r v ‘:i’ L )
1 Qﬂ'\uqqLﬂu"lZﬁﬂﬁkLuu‘tﬂ?ﬂﬂ?qﬁﬁlﬂﬁﬂHL’ﬂﬂLLLI‘]JU LATAINNTD Lkﬂﬂﬂﬂﬂuqlﬂ'ﬂ

Feunausing (Cause) seiudtalugyanvd ayniera (Result) 3 anahma

e3¢

v
31 (Consequence) lumian u?@ﬁqm&;uﬂzmluwmmﬁm (Cause and
effect relationship)
o R L 3 =d 1 & =l £ =t ar
iinAnsdamenenudniadindn nadilsulfvnussnalusyansnni
wngaainnieu Hasiomamnin i adiusszudavRuasNadian e

Auusiuna2an ( Chronological order )

7.1 fatsnssusyianiinaniiaug

S, It is difficult for workers to find employment this year. S,One
reason is that many industries are not hiring new workers. S; In
addition , industries are reducing their current staff levels because
of a decline in national economic conditions. §, Another reason is
that workers who once might have considered early retirement are
now staying at their job. S; Finally, other workers who used to view
their jobs as optional now must keep their positions in order 10

meet their minimum financial responsibilities.

(3 N EN 306 wtin 187)
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2/
q

744 mullanzingenindnduun
ayaniilsloasnsrddryagislaaum Hemreseyan
(Topic) Reatiudesmavieutaspuruilil fdeulidouty
Wit AraEnN@nINYBIAUNY (Controliing idea) axlsAniue
PBPIHENANLNIR SIS WS FrmeuAeyssTapatiy
AYU  (Supporting sentences) Feldun S, D1 S, wiavtlsziam
mmﬂmmmﬁumm:ﬁﬁqL%an“'f'imnmﬁmmmmﬁuﬁuﬁ gann
don PTodd sl

One reason is_that many industries are not hiring new
workers.

In addition , industries are reducing their current staff levels
because of a decline in national economic condition.
Another reason is that workers who once might have
considered early retirement are new staying at their job.
Finally , other workers who used to view their jobs as
optional now must keep their positions in order to meet

their minimum financiai responsibilities.

> ' ¥
viauneAea g 4 dssmsivinldeaulisansnmauinldetieieluili

2 1 o o o e -
ﬁutﬂ11@ﬂl§tﬂwuLWﬂ:mQL‘ﬂﬂu 52 AT Ss ﬂQWNﬂN'}ﬂﬁNWUﬁHUﬂﬂ ﬂ']Luﬁ}

AR n uiveslstugaamngsn (Industries) nvtiidullsssurenlssios

o Qs o e t -ﬂ' a
putAL S, & S, AvNuIedNRUSTUNa sl WLITIANURTN LY

¥
Tsanugmaunssuaguds (workers) dsludideuldwivanienaung 2 fu

4 dsznnnaduaiuanszddny  delassaiesielyd
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Topic sentence S,

Major supports E + 513_ S, + S

712  MANILWIANIHARYNIAIIINA NN IUNUANTa IR

L 7] all 1 o g ¥ v b sl ] [-] Ai'

ganuhaueyendanwridlfidilasinedinouisiudnlud g
lagnsnfresnimdange ssandnennisuanausnarasdrren i ilundied
by ¥ [ YA b Y [ rnﬂld -
DaudANduANINI VR UaTkaRTITNA NN NN RAN HuLTuaNg
S = i - g o g L 5 dl
ABINAEY  wimsudasANdNAUTTIANATUARIBENNNAINNT NN
uwansinafiueanty

o~ ¥ -J 8 ol e e n Y
naansiedii 1 glisunsnlszloaassdrdogiu wat se

wuamgiralsslratduayumnisslon fwenmewialli

Causes Effect

SZ

industries’ policies
SS

— 1 S, - difficulty for workers to

S, find employment this year.

workers' policies
S
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7.1.3  maAwnzinisdmunlusyenieans

- LA 14 - 1 3 F3
UENMLEANANNANRUTNIFIURTINI NENTaRMRNaLAY  N1eld
nmfaniisesnidlu 3 Usmnw Ae
1. anuduiudssanguanielulsclaamaaiu

2. anufniusrauvsrassuinasrlantaluayan

7.1.3.1 nmadwneianuduiuiasavenanisluayamanii

rn‘) b [ o
lasnnsnfuandsanudniufreaveuasnalunmsdangs
fiagnune FainAnmlaiFowndhussu . daddugifdeiilyunnislder
[ L e b 1 <A ) ' 3 o 2’;
Wn liiinsResueyanud sunausing 9 uanbisendedlnduerls faiu
¥y @ ]
Tl Wazsausaausidaud dy e lindns lslananunaulddega

"
N

131371 1 : Most common usage of cause & effect relationship.
(Compound sentences)
Cause Effect

, SO

{thus R
therefore ,

F@Ng 1. Many industries are not hiring new workers; so|it is difficuit for
workers to find employment this year.
2. Many industries are not hiring new workers ; it is difficult
for workers to find employment this year.

3. Many industries are not hiring new workers; it is

difficult for workers to find employment this year.
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Fiaeeine 2. Most common usage of cause & effect relationship

(complex sentences)

Effect Cause
- for
_ {because
! since

piaegne 1. It is difficult for workers to find employment this year;

| for] industries are reducing their current staff.

2. If is difficult for workers to find employment this year
[becausd industries are reducing their current staff. w7e
Because industries are reducing their current staff,
It is difficult for workers to find employment this year.

3. It is difficult for workers to find employment this year
since_industries are reducing their current staff. wi e
Since_industries are reducing their current staff, itis difficult

for workers to find employment this year.

Tueeisludautesmraassiinudiusteanauadentunnans
L
Cause —— —* Effect
Because of a decline in national Industries are reducing their

economic condition. current staff.
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oy 4o . .
Aariulassaiaresmutlezloafaduayun 3 Salldnwuzaoaduiug

nneludial
Cause and effect = Cause —>» Effect
Because of a decline in national It is difficult for workers to find

economic condition , industries are | employment this year.

reducing their current staff.

7.1.32 NM3AAZUAINNEUNS

§ k1
AULDYE AN HLTURINEFNTLAFIANNANAUTAN DI e
MFvateLuuAn
wnwen  fdeusswindslsalinaelulszloadaiu indumnsia

[~ 1 ar 4 1 [ 1 L4
anunsoaziiusmansenInalsslunly Aalmaseairesis i

Many industries are not hiring new workers. So it is difficult for
workers to find employment this year.

Many industries are not hiring new workers. Thus it is difficult for
workers to find employment this year.

Many industries are not hiring new workers. Therefore | it is

difficult for workers to find employment this year.

ldl ar ! 1 IA 1 hd
uiyhans  nsidFadenszwinalezlaaiild connectors w3 aAdus
(Conjunctions) usilinguAnfiuanefansdu (Enumerative
counting) Tugiluuuipng 4 fenuinaznusdiunmslidnieluayan

L
whanuvlauuuuils feil
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A

mgy’wﬁ1 Fuan First snasndiae Second musdat Third aungtazay
§ruaufteny

Fhethefi 2 15 uanduan To begin with ... #uAne also W78 in addition
au¥nedan Lastly e Finally

fameinan 3 (FuAWAIN The first X_ {reason) BNNWNA38 Another _X

(reason) ..... qURIsIE The last _ X (reason)

1 8 1 i
Fadax (Transition words) gniiuindesiassewinedszien i

ayananyrniidnyosiutuniiduneaiumsiuanudaneliisaaud

Z 34! 1ar o=l <4 s 7R o 3| % [ o
la Vet uegiugifuuasiaaniiaals wigawaniusedunmansan uszin

-y -y <t 1 e 1 1 ar ] o 9 <l 2ran
Tinneiiarauiinwesnuy Awinedtaduluagan faetiaiugleuldisinig
danlus maladuwiufiassusidudinlies (inear order) vasselen g

3
AN diagram UEIBIHBNGI

S, Topic sentence . S, One reason is

that . S, In addition,

S, Another reason is that

. S Finally ,

, - |
wdnadiminaauAnnegnielu One reason w3a Ancther reason
Sriialiasysaiansolddadendalasvilerie In addition ¥7a Also 5 e
. = pz g -i’ 1o ar 4:
Besides #78 Moreover $iviadu Juegiiumndutewsasiiomnieluaijan

9
salaseaFransmonantiullls dse
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(Also,
Moreover ,
In addition,

lBesides , }

One reason is _that

. Another reason is that

[Also , )

J Moreover ,
In addition,
Besides , J
J'I'he last reason is thatl
J

Finally ,
LLastly s

] d O
7.2 ﬂﬂ?ﬂﬂ“ﬂi{lﬂﬂﬁtﬂﬂ‘?ﬂﬂﬂﬂ (Effect)

-d, 4:‘ o al or o % o nl‘ Ai' [ =3
AUBNVUNLINUNGR %mnﬁwmwnuﬂmnuwtwmnmnumcﬂ Af

i ]
o

Uszrlepanszdrdtyasyeiamvy dselvpafumpmimunsaiiulsluafiieaiu

e d' ar o 1 b 3 -lz Pr
ke (Effect) nT ara¥ienamn (Consequence) Asaipansisatinvdinesneil Fail
avseddnymileuiuusiianuwnadumeg Ussluafimfetaiulslonaiu

1 I < z pr 1 8 g ! e
ayuanilung astuniFaudsusyanisansiesslfidlatsanuuansieiv
: o w o

sndaaniihuvsuasewaniiluug

pantnspyaniinaime (Effect)

S, It is difficuit for workers to find employment this year. 8,
As a result, many recent college graduates are unemployed or are
taking part-time jobs to meet expenses. S, Unemployment among

high schools graduates has meant that large numbers of teen—agérs
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are seeking unemployment benefits. S, The unemployment figures are
the highest in decades. §, Finally, the Federal government must
coniribute targe amounts of money to support the growing numbers of
people who are receiving welfare assistance.

(a0 EN 306 4t 188)

721 madwsdagenieniuug

nd' -, T -=:l’ (=t L 24 o 1 ‘3’
LumLm3’131&m§mﬂm:wm’mlﬂﬁai'mmma‘lﬂu
Topic sentence : §, Itis difficult for workers to find employment this year.
{cause)

1 Major support : S, As a result, many recent college graduates are

(1* result)  unemployed or are taking part-time jobs to meet
expenses.

2" Major support : S, Unemployment among high schools graduates has

(2" result) meant that large numbers of teen - agers are seeking
unemployment benefits.

3" Major support :S, The unemployment figures are the highest in

(3 result)  decades.

4" Major support : S, Finally , the Federal government must contribute

(4" result) large amounts of money to support the growing
numbers of people who are receiving welfare

assistance.
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L] ] - :0 L al <& ar  an
syaniimuvinedt  wesruneinldindifsasfisnuanme tTudin
AUSINUMANETEN RN LE 97 8917970 part - time gfisugau@nm (High
school) Wawwinlilsiineesmandaemie s l¥adiruInuggaly
il :’/ o b L) Jv L5 4
oyl AnduiguneasdieaniusmrnanngavuauitcldlFaewin ayen

mnaafune dustsazlitiadienAs a result, " ugndlifiugy deyauds

o d‘ gd < 4 ] 1 o -l o~ l:i‘
nsafianiiae wa urenafnnanlwisasetafureavmdeaiy  ayenil
] - o ] d' o o 1 [d -J o [ 7] ‘dl [l
Lifieendunfiuinaiiulioatiusygumdn gldiandundminmid - udae
Usrlomatfuayu Witswi ediiusiuee (UFandausanioauduls)

w» ¥
AUlATIAT 111890 AN ABUARIA INANRUETT NI NP NARENNT]

Y o ‘:II
WAR LAFIT
S, : Topic sentence (cause)
— \\-‘\
82 SS 84 85
1% result 2" result 3" result 4" result

722 nlwazidayaniniuentisroaduiuzniianeug

NRFTEN 'As a result UAASITUANANRUSTE WA UTIINNNA S

Thunavesdaunlingtoninen selageaing

Cause Effect

X . As aresult, Y .
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Faneing He had a heart attack. As a result, he died.

8 A b bt ar ] g
sasdanldinwAtIuRBnNNITEA UL Asagsialili

o ] ar [V o =i [
phatnandufissmsualulsrismpeiu

g HE

1. John had a heart attack ,s0 he died.
" " . thus , he died.

; consequently , he died.

therefore , he died.

i (1}

; accordingly , he died.

N “ . for this reason , he died.

S A A A

& & ; hence , he dled.

HA LB

q

8. John died because he had a heart attack.

9. since

10. John died due to his heart attack.

11. because of

12. owing to
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13. Heart attack| causes his death.
4. ¢ results in
15, ¢ " is the cause of “
16. “ has an effect on :
17. “ is the reason for “
Al LB

18. His death is the result of a heart attack.

19. His death is the consequence of a heart attack.

20. The reason for his death is heart attack.

21. The reason is that he had a heart attack and then he died.

22. His death follows from his heart attack.
23. His death is the effect of his attack.

24, His death is due to' his heart attack.
25. He died, for_he had a heart attack.

7.3 MIEUBYBNUULANAIRNRUESEWIN AuRNS
mgmmmummﬁuﬁuﬁ'swdwLuﬁgmmzﬁﬁ’nwmzﬁmeﬁqmmﬁ'uﬁuﬁ'

Faspsdndlusincilsndu sl lumadh lausssiemadansafidiudoevie

hifufidiauatels fowlifasdinnuniedn amumneaslsngdmeudonis

t Bs ’ ot I d”
gnuayansaatinsse il
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S, There are several important reasons why Mike, a high school

senior, was rejected by the hiring supervisor at the local electronics

company. S, | Mike's first problem was his poorly prepared job

application. S, Because he filled it during the bus ride to the interview,

Mike made many errors. S, The paper was filled with erasures , crossings

out, and blank spaces . S, |_Another reason| was Mike's poor

appearance ;he wore faded jeans an old flannel shirt to the interview. S;

in addition,| he was late thereby making both himself and the interviewer

uncomfortable. S, | As a result| Mike made a bad impression during

the interview and never had the opportunity to demonstrate his fine
abilities.

(anwilede EN 306, iy 194)

7.31  M13iAeilanaingedauan

o3 mmzﬂm‘aa%ﬁwﬂqwmmzwuimm%’wﬁqﬁ
Topic sentence : S, There are several important reasons why Mike , a
(Aue) high school senior , was rejected by the hiring
supervisor at the local electronics company.
1% Major support : S, Mike's first problem was his poorly prepared job
(mmﬁ;"?; 1) application. (Hf)
1% detail (to give S, Because he filled it during the bus ride to the
reasons of poor interview , Mike made many errors.

job application)
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2" detail : 8, The paper was filled with erasures , crossing out
and blank spaces.
2™ Major support : S, Another reason was Mike's poor appearance :
(mmuﬁ{ 2) he wore faded jeans and old flannel shirt to the interview.
3" Major support : S; In_addition , he was late thereby making both
(mmop"'; 3) himself and the interviewer uncomfortable .
Concluding sentence : S, As_a resuli, Mike made a bad impression
during the interview and never had the

opportunity to demonstrate his fine abilities.

autwﬁg’,ﬁﬂuﬁmnwﬁauﬁmLmamamﬂa‘:n'}ﬁ;éﬂﬁ'mﬁﬁﬂﬁ Mike
LinunsossdandinmuiF diued odlwin fdoildvg 3 dw fe s
(Poor job application) S, (Poor appearance) uaz S, (Being fate) uazaq
v f?’qmmv’ﬁuf':ﬁammﬂuma'lﬁ Mike Taiflufnlssii\ag@unwnl Tassai

A - } zdl
‘lIﬂ\?ﬂ’J'lNﬁNW%ﬁ‘ﬂﬂﬂLLu"Jﬂ'NNﬂﬂﬂWQQZLLGﬁﬂlﬂmﬂuﬂﬂ

S, | Several important reasons

Major supports | S, 1% s, |2™ s.| 3°
2 5 6

€ason reason reason

Details of S, I&J

it
1% reason

Result

144 EN 306 (S)



7.32 malwnsinmrldnmuansmanndiiuissndiavnuasis

aelusgen

AU "Why?" D uT afistuesdamiledsla (Reason)

[l 1 l L3

W7 B0 N (Cause) revBsnilidsla Mdusmiiumngegliulslomass

1 4
dptytugLees adjective clause 18181A19Y "reasons” Ynldlselamliugeenan

1 ar & o o
wetednauipuduiuseslssloavsuazia

1. Uszlem S, | S, uer S, wadaFawuwauInAn Mike daly

g d' ' - -JO -~
adpriililifoufesuazansn S, uar S, uantaeuwEIM B UaTAsansn

5 " » - ~ e 1 ® -
ﬂQﬁUﬁ’]u because UﬂnﬂﬁﬂquﬁNWUﬁ'ﬂmlquqqﬂ'ﬂu"]Qﬂnﬂinqqnﬂqqn

(Effect)

Mike made many errors in _his job application because

(Cause)

he filed it during the bus ride to interview.

2. dlum s, wolwmiiaes  naduendsvadaiay
Anather reason wwaizlzelue® 2 W Mike's first problem UN1ED9
Mike's first reason u-anmnﬁm?ﬂwmmﬁﬂmuﬁauamaﬁamqua:ma’ﬁa
I
(Effect)

Another reason was Mike's poor appearance ; he wore

(Cause)
faded jeans and old flannel shirt to the interview.
¢ﬂ‘ . d’ :: R =] 1
AT AINNNE  semi-colon wauﬂs:’iﬂﬁmamnﬂﬂmmQLLamﬁ HANUNELNAN

- o 1 d”
fulsrlumsssialun
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(Effect)
Another reason was Mike's poor appearance because
(Cause)

he wore faded jeans and old flannel shirt to the interview.

3. iszluadl 6 yateawpded 3 Mhadluiadenusntanny
. d . »
mmmmaammmqmua%ﬁmnu eld causative verb ‘make” #aua93N11

} %3 L 73 ar " o d‘d’
AIUNUT "make” Lﬂumli]. AIUUDINTHIUAT "make” LIUNBAI
(Cause)

In_addition , he was late thereby making _both himself

and the interviewer uncomfortable .

(Effect)

»
4. Ustlopagd iR As a resuit Saouminasaiauum
. . ar ' 1’, 4 ' & 1 4
(deductive  reasoning)  atnwgsIngsamsunelfianaauNaiL

L S
YARNNNWIEY Mike NeRu

Py -J = L4 & ﬂ; 1 a X
nanasud 1 Jwwmzdlenaiessnisinelusyianiusaslfifiulieaanu

Aufufszudtuunuazg Aaneyaniies “Cockroaches"

S, Cockroaches have become a major problem in our building
for three reasons. S, First, they camy germs and diseases because
they live in the areas where there is food. S, When we eat that food,
we may get sick. S, Second, they eat everything. S, They not only

eat food but glue, paint, clothes , wallpaper , and even plastic .
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S, They even live in and eat the television set. S, Finally, they are
indestructible . S, Nothing can kil them in our building. §; All the
chemical powders and sprays we have tried on them are no good
because they are always back. S,, Therefore, we have decided to
move out.
Questions :

Write down five sentences that show cause - effect relationships

and. then analyze them - - to indicate the part of the sentence which

is a cause and the part of the sentence which is an effect.

1 ar Lo «f
7.4 nFEUBYIRNLLLIMALATHARNRUSALLULAY 9

¥ t
Twneefeyanuuumauaziasinasilassiudauiuypaniunu gy
wuLEnietnelssnay (Tlustration) WLLNTAWAIEA (Analysis) 1T aduteu

I d ¥
natuwLULnnIfuATIzd (Synthesis) Aefa0einIBRANT A NauAY
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2818 ﬁaé’nﬂmzmmwmmuuf‘: nAnueasazsuuazEaLANa N 7 Tl
Aeponsudlanies

S, Many of my students have difficulty taking tests . S, For some,
the test situation causes great stress and tension. S, The minds of
these students “go blank” when they receive the test booklets. S, Others
do not know how to study and , thus , come to the test ill-prepared
to answer the questions. §; Some students study correctly but do not
follow directions on the test. S; They usually do no finish the exam.
S, These are some of the factors that contribute to the poor
performance of certain students on tests.

(annwifsde EN 306, win 192)

7.4.1 NI3ATEHlA2NATTRIRYWAY
A a 2 ; 14 ¥
Welimsnzilrsai e lutesyeniuds azwulanaitaneiu

ar <l
)P

Topic sentence : | S, Many of my students have difficulty taking tests.

A t H o~ . [
1 Major support : | S, For some , the test silualion causes great stress
and tension.

Detail S, The minds of these students “go blank” when

they receive the test booklets.

1
!

2" Major support : | S, Others do not know how to study and thus, come

| to the test ill-prepared to answer the questions.
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directions on the test.

Deta#l S¢ They usually do not finish the exam.

3" Major support | S, Some students study correctly but do not follow

A concluding

sentence

S‘7 These are some of the factors that contribute to

the poor performance of certain students on tests.

d o o 3 < . 1 e g
Wanananndaiuszewitsrendane s loaaslsigiad

Topic sentence

Major support [?2

Detaits | S,

7.4.2 mMslasedinunuskanynlrssain e s e nd e aLILIIG

uazue NusReanuuLduAIey (Synthesis)

wdsaniin@nsnadinlannumnendne q 1eeyanuda dn

L - <l i =l b -‘l’ + - [ <M
ANEIARTHN AT S I Iea B aLLT HUELUBPINTNUUL INBNBUNUNT D

) @ e AI' t - 0 ar el -\' [ 4
saffuiuagendu q etwls dnwoedssloparssdrdyiitien bidudeuuny

X | t o ¥ ar d‘ J
drrlumtiaruauiszlantu q athels nlaRddfdndenszninnlslureypen

1 ‘s or y, - . 1 J -
wanblszauiulnedsnmeduamed Synthesis) filiturse q lédeyaioaiy
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ayuassddyindld AeldideyssesinAnehilligwifaafuntsseuiiay
o Y1 ol el al R a

nqu Hillullissey i winAnsffidlgwmiitdssnm Auvy 3edifinnes
8  ar ar g, = o dll ' < ar dl
a1 wenisthy Madduaenssuivlsrloawlewivagendug - Uszau
1w.J3:'&1ﬂmazf‘hﬁcy@:muﬂmJsvmwmﬂsﬂmaﬁmuuwmﬁq ATl Usesu
Llsrlamanszdndyasiianamnanisiign (Most generality) fiagil 2anan

LLammﬂfnwmm@amﬂmmu’mﬁsﬂﬂﬂmnmﬂryﬂquauﬂi:‘iﬂﬂﬂu s

4
=

NN
A
s, s,
Topic = Many of = For
my students ~some /
\ N4
ers-
B B
. e e
Controlling = ﬂﬁ S, \82 ™~
idea difficulty \ Test
talking test lncompletio\w situatio
TN
84
S
ll-preparation

GEUEY AI19NAN A ﬂﬂmwauunﬁnmmﬂmm 1aNAaN B ABWFAZNTH
ﬂmﬁnﬁnmwmmﬂmuhﬂm umemlmﬂﬁmﬂum znaN upasiloyunauasy

YNNG mﬂamm‘;wﬂu'l,:iuﬂmﬂg;:mm:szqmmuﬂLLuu@umﬂqﬁnﬂm:ﬂwmiﬂ
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anuliild uazsasmBundtusaznguilinbildunannuaneaugilauausinle

(qio o <N |7 L] i ¥ o m 3 9 1
@'ﬁﬂﬁ‘zﬂﬂﬂ‘ﬂﬂqﬂﬂ;lﬂ‘ill?ﬂf]\‘iﬂ'l‘i‘qf'.ﬁllﬂﬂﬂ\ﬂqqnﬁﬂﬁlﬂlmuqqzﬂﬁﬂ’]ﬂﬁ’]k‘lﬂ[ﬁ]ﬂzblﬁ“l_l’1\'1L‘Yn

b

st
=i' (% & l ]
apanilssaruiuliingzdn Many of my students HAMUNTE
2 ar £ < ¢!‘ 4} lﬂ‘ 2 b 4 '
AsaLAgHDINANMNAwIunile Fadlauenyeeeniludeld 3 ngu sylu S,
o g ar 13 1 L ' ] or s Ve | e

S, uaz S, AnuduRusAnmriinaudnandie o Binssinda winfuszydnin

1 ) o
Andiitlyundnldinngy Wy 3 ngu sAulszlamansedArydnmoueil

There are three groups of my students whc have difficulty

taking tests.

& = o  ar 1 ds’ 1 o = [ = 1 t

andeulszleaanszatdAtyedieiuansdfiisudiamsiuarawiasndt
i 3 naw eyaniazdinsiidscloaaiuayunieluiiiinisdy First, Second |
waz Finally Fafludnunieayandiaszi (Paragraph of analysis)

19 <l | & =y s ¥ fl 43‘ o

wiiieubiqatlszasdazdiamed denisazuenseinaeny o) Saszydn

Tuilszlem agldn

These are some of the factors that

gllewldAdn "some of the factors® nune tades wauuilela
| & o . o < A el My A o o e Iy

nai feasiifladpau 1 anndalaliyatie nedidiaulideyawuumveny -

e k% =l o Ld . a’l’
Mo pulavidnwnziiiunisdunsied (Paragraph of synthesis) fuaniuyil
2 = | | A 8 vy - ¥ o
illnuazAnt < naa uie WidayslliT o ) auasy uasausaaneagLERsng
WE P Rseruduiusseninalsslanarsed iy wasdselopagd vl

' 2 3 [ & & ! =l a
st laidevnaIngUszassrasisislunaaea s
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7.4.3 N7 ATITVeliaTeq Positive Cause and Effect Relationship

uae Neaative Cause and Effect Relationship

) L 4
wadnvilsrTaaaviuaywiwisnasnudpduius lussud

drslopatiuayuwsiasdaduiuuvauacig winussuuuiumg

1% major support Huwuy positive cause - effect
2™ major support \WWUL positive cause -effect

3" major support oy negative cause = effect

positive cause - effect relationship A2xvENerewuNATWlUR NEIINTIG
o 1 | [v) Jn t7 [ 7 .

ansaamEwT aRARLS lunamsaiuinn negative cause - effect

relationship  AYNANRUTszwIrsrleampuaztaRsaiuiAuAIINaT §
o a o -1 {73 =4 a ar Aal =s' = b7

prstutuiusssnadresanutuldly wiensefudwiuddinuanly

AaeingLaiid

1 major support S, For some students, the test situation causes
{positive) great stress and tension .

(EwfinAnmingau weiddesaaufinatlym
- & =] 1% = ey 1 Y

AHLAT EIR ﬂﬂuﬁn;mmﬁmu@m'mmmﬂnﬂlu

NenasNunAe Ussleah 3)

The minds of these students 'go blank' when

they receive the test bookiets.

dll - - @ -] [ 7] Al dl
(Lu@mmﬁnvmwmnmqmaﬂwmﬂmluaulumw

LR1F SINNATIUNR)
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2" major support S, Others do not know how to study and , thus,
(positive) come to test ili-prepared to answer the
questions.
(wnaAnsdnnguuiielalsing sudasaauacla
=y -3 7 2. l
#uNTnAzReUNT v deanyls)
3 major support S, Some students study correctly but do not
(negative) follow directions on the test.
ar =§ =i o’ 1 = ] (-] ] y
(HNANEILNALAT INFRNNRENSR WA lNINAnR)
S; They usually do not finish the -.exam.
(Haldnwumduseideanyliiaia)
AyndNNusTe S, + S, ralWiim negative cause - effect relationship
[ 7 a d] 1 .y 7] d; ar 1 =l ar K-
szAaNuInRiuiAUrudangAnld BleunAnmumT ansonnA i
b Y ] [ [ Y 7 [ o & ‘-‘H 2
augeyls winandupsaiudn Anwossanuduwusuuuiias Widuau
- < o v v 1, o .
(Connectors) AienieAs gL aniIefuAIINMEIe I@LA 'but’ %38 however
1 =1 % o . b 73 " y
Wi Uselam S, anasnilisunansnINAuRusLLL negative Taeld "however

k4
1!10/ =

PIANL

Negative clause-effect : S, Some students study correctly ; however
relationship they do not follow directions on the test.
S, They usually do not finish the exam.
4
U7 D
Some students study correctly. S, However,
they donot follow directions on the test,

they usually do not finish the exam.
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Ranssudi 3 srunanudomauAn e o

S, Many of my students have difficulty taking tests. S, As a
resuft, they get poor grades on their quizzes. S, They must, therefore ,
work harder in class to communicate their understanding of the course
content to me. S, In addition, they usually devote great periods of
time to wriing term papers and reports in the hope that these assignments
will raise their averages . S, Finally, many offer to do extra assignments
in an effort to raise their grades. S, The effects of doing poorly on
even one quiz can be stressful to most students.
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Questions
1. ldentify the topic sentence and then write down. What the passage

is about and what its main idea is.

2. Analysis the paragraph structure and then write down the flow of

ideas below.
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3. Write down 5 sentences of cause - effect relationship below .

Then identify them whether each of them is positive or negative.

4. Discuss the function of the last sentence. What part of the sentence

signals the writer's attitude 7

5. Is there any other methods of development of a paragraph in

addition to cause - effect ? Discuss you opinion below.
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